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REF NEE REF NEE EREF DRE
e 56 | = 2B 3% 23F 76 | = 2BEFE 451 21F 94 | = 2BEE 53| 34F
57 | = oRERE 3% 24% | 77 | = 2RERE 451 22% 95 | = 2FERE 551 33F
i 78 | = 2BERE 451 23F 451 96 | = 2BEE 53 32%F
EEF NRE 79 | = 2FERE 45| 24F 97 | = 2B 5% 31F
LB 58 | = 2@EE 3% 25%& 80 | = 2[EE 45 25% 98 | = 2[R 551 30F
59 | = 2FERE 3% 26%F 81 | = 2BERE 435 26%F 99 | = 2BERE 5% 29%
EEF NEE EEF NEE REF NEE
60 | = 2FEFE 3% 27F 82 | = 2BERE 435 27F 100 | = 2BERE 5% 26%F
531 61 | = 2FERE 3% 28%F 83 | = 2FXFE 435I 28F 101 | = 2BEE 535 25%&
62 | = 2F&E 3% 29% =5 84 | = 2[EE 45 29%F =5 102 | = 2FERE 55 24%F
63 | = 2FERE 3% 30F 85 | = 2BERE 435I 30F 103 | = 2BERE 5% 23F
86 | = 2BERE 4% 31T 104 | = 2FERE 551 22%
EEF nEF 87 | = oFERE 43I 32% | 105 | = 2FEE 5% 21% |
64 | = 2@k 3% 31T\
65 | = 2FXFE 3% 32F EREF NRE REF NRE
251 66 | = 2F&%E 3% 33F 88 | = 2[EE 45 33F 106 | = 2FERE 551 20%F
67 | = 2FEFE 3% 34F 89 | = 2FERE 435I 34F 107 | = 2BERE 5% 19%
68 | = 2FERE 3% 35%F < 90 | = 2FXFE 435I 35%F x5 108 | = 2F5E 5% 18%&
69 | = oRERE 3% 36% | 91 | = 2[R 43I 36F 109 | = 2FEE 55 178
92 | = 2BEFE 53 36%F 110 | = 2B 551 16%&
EEF DERE 93 | = ORERE 55 35% | 111 | = 2fEE 551 15% |
70 | = 2FEE 4% 15%
71 = JRERE 45| 16%
551 72 | = 2FEFE 4% 17F
73 | = 2FEE 4% 18%F
74 | = 2fEFE 45| 19F%
75 | = 2RERE 451 20% |
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EEF NEE EEF NRE REF NEE
#351 352 | = 1[EFE 45| 8FE 367 | = 2[EF 23 14%F 381 | = 2[EFE 45| 5%
353 | = 1[EFE 45| 9F 368 | = 2[4 23 13F 382 | = 2R5E 4% 6%
369 | = 2[EE 2% 12% 383 | = 2B%E 4% 1&
EEF NEE &5 [ 370 | = 2FEE 25 11FE 384 | = 2BSE 45| 8F&
354 | = 1[EFE 4% 10%F 371 | = 2[4 23 10% %5 385 | = 2REE 4% 9F
Wl | 355 | = 1R 4% 1% 372 | = 2BEE 25 9F 386 | = 2F%E 4% 10%&
356 | = 1PEE 451 12% | 373 | = 2FEE 25 8% | 387 | = 2[R 45 11FE
388 | = 2FEFE 4% 12%F
EEF NEE EEF NRE 389 | = 2BERE 451 13F&
357 | = 1BEE 9% 1& 374 | = 2BEE 2% 7& 390 | = OFERE 471 14%F |
531 358 | = 1[EFE 9% 2% 375 | = 2% 25| 6F
359 | = 1REE 105 1FE 376 | = 2[EE 25| 5% EEF NRE
360 | = 1R 105 2% | mE | 377 | = 2R 351 5% 391 | = |2@ERE 531 5%
378 | = 2FEFE 35| 6F 392 | = [2B5E 551 6F
EEIF NRE 379 | = 2[ERE 35 1& 393 | = [2B%E 5% 1&
361 | = 1REE 1151 1% 380 | = 2BEE 35 8% | 394 | = |2 531 8%
362 | = 1[EFE 115 2% i 395 | = [2fEFE 551 9F
2 51 363 | = 1BEE 125 1& 396 | = [2/EFE 5% 10%
364 | = 1REFE 125 2% 397 | = [2B5/E 5% 11FE
365 | = 1[EFE  13% 1F 398 | = [2[EFE 5% 12%F
366 | = 10EE 1371 2% | 399 | = |2fERE 551 13%
400 | = [2PEE 551 14% |
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REF NRE EEF NRE EEF NEE
558 | = 2BERE 25 18%F 565 | = 2[5 35 9F 572 | = 2BERE 35 16%&
559 | = 2[EFE 2% 19%F 566 | = 2[4% 3% 10%F 573 | = 2[EFE 3% 17F
560 | = 2F&E 2% 20F 567 | = 2FEFE 3% 1% 574 | = 2[EFE 3% 18%
HF | 561 | = 2BEE 25| 21F LIl | 568 | = 2BEE 3% 12%F 551 | 575 | = 2BERE 35| 19%&
562 | = 2[EFE 2% 22%F 569 | = 2[4% 3% 13%F 576 | = 2[EFE 3% 20%F
563 | = 2[&E 2% 23F 570 | = 2FEFE 3% 14%F 577 | = 2[EFE 3% 21F
564 | = O2FERE 231 24% | 571 | = 2BERE 35 15% | 578 | = 2of&RE 3% 22% |




